CROSSING THE RIVER

Person A has a bag of gold worth $8000.

Person B has a bag of gold worth $5000.

Person C has a bag of gold worth $3000.

The people must get across the river with their gold.

The only way to cross the river is with a small two-seat row boat.

The boat can hold two people or one person and one bag of gold.

The people do not trust each other.

At no time can a person or persons be in the presence of more gold

than they collectively own.

How do they get across to the other side of the river with all of their gold?

Come up with an algorithm to get them across.

Be specific with each step.
